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ACCUSLACER SRED

Elementary Algebra
SECTION <

» Solving Quadratic Equations

General Information

* About 12 questions
* Calculator for some problems

-> will pop up on screen when allowed
* Untimed

Solving Quadratic
Equations

|I I 'l' ‘I‘ -

an equation that can be written in the form

ax? + bx + ¢ = 0, where a, b and c are real
numbers and a # 0

Zero-Factor Property

If a and b are real numbers and if ab = 0,
thena=0o0rb =0

Solve the equation.

Begin by setting
(x+8)(2x—-3)=0 each factor

equal to 0

Solve each
equation

(x+8)=0 (2x—-3)=0

x+8 =0 2x—3=0
-8 -8 +3 43
x = -8 2x=3
2 2
3
Therefore, x = —8 orx =7 ‘

Solve the equation.

Begin by setting
y2y+4)=0

each factor
equal to 0

y=0 Qy+4)=0 Solve each
equation

2y+4=0

Y —4 —4

2y==-4

2 2

y=-2

Therefore,y = 0ory = —2




Solve the equation.

|FACTOR first

x? —4x—5=0 Set each fact
_ et eac actor
(le)(x_\S‘) =0 equal to 0
Sol h

x+1=0 x—5=0

-1 -1 +5 45
x=-1 x=5
Therefore,x = —1orx =5 ‘

Solve the equation.
What'’s different
2 —
x +_28x __g ! about this one?

x> +2x—8=0 Begin by re-arranging
(x —2) (x + 4-) =0 the equation so that it is
equal to 0. Be sure to

(x _ 2) =0 (x + 4_) =0 keep the squared term
positive.

x—2 =0 x+4=0

+2 42 _—4 —4 FACTOR |

x=2 x=—4 Set each
Therefore, x = 2 or x = —4 | (G el
to 0 and
solve
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The solutions to a quadratic equation in the form
ax? + bx + ¢ = 0, where a # 0 can be found by
using the following formula:

Solve using the Quadratic Formula. Round to the nearest
hundredth, if necessary.

a=3 Determine values
3K +4k—13=0 D=4 1 ofabac
—b+ m Write the formula |

X Plug in the values ‘

a concise - b2 — 4ac oa
way to 2a —4+VIZ—4-3--13 | simplify
write... x =
2-3
_Th+Vb?—dac = —b—Vb®—4ac x:—4i\/16+156
= 2a x= 2a 6
—4++172
X = ——
6
= w Solve using the Quadratic Formula. Leave answers in exact
= 6 form (Radical Form) a=1 Determine values
/ \ b =10+ 17=0 551_710 ofa, b, &c
Write the f |
-4 +13.11 -4 -13.11 —b+VbZ —2ac rle' e formula
X = 6 X = — 6 x = — s Plug in the values
211 —-17.11 = —10+4/(-10)>—4-1-17 | simplify |
e T - 2-1
x =152 x = —2.85 v 10i\/1200—68
The solutions are: 1.52 or -2.85 ‘= 10 £ V32
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10 + Vi6v2
X=——
10 + 42
T
_2(5+2V2)
T

@ 2V2 or 5@

Solve using the Quadratic Formula. Round to the nearest

hundredth, if necessary. @ = —4 |Determine values
b=2
46> +26-9=0 25 ofa, b, &c |

Write the formula I
—b +Vbh? — 4ac
X=—FT""" Plug in the values |
2a .

—Zi’,22—4‘_4'_9 Simplify |

x =
2-—-4 Since you can’t
—2++vV4—144 take the square
X=—7" root of a negative
—8 = number, there is

no real solution to

== 7 Ol
x = -8 U!L‘j this equation.

RESOURCES:

Go to your nearest Academic Services Lab
and you can get a packet of practice
problems. You can also work with an
instructor!

ONLINE RESOURCES:

http://www.purplemath.com
“Accuplacer Math” can be found on the right side of the screen

http://accuplacerpractice.collegeboard.or,
need to create an account but appears to be free



http://www.purplemath.com/
http://www.purplemath.com/
http://www.testpreppractice.net/COMPASS/Default.aspx
http://noreply.collegeboard.org/148f01bb1layeousiarrdcoyaaaaaaaaaaaaauxlbmjkqaaasgld3yaae
http://noreply.collegeboard.org/148f01bb1layeousiarrdcoyaaaaaaaaaaaaauxlbmjkqaaasgld3yaae
http://www.purplemath.com/
http://noreply.collegeboard.org/148f01bb1layeousiarrdcoyaaaaaaaaaaaaauxlbmjkqaaasgld3yaae

